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switch (FRIAT)

P
case BERIARNT: (1I§G)1; ] |break;
case EEIRIAN2; (iEA)2; } |break;

case BEXRIAIN; (1BAn; }kbreak;j

default: { GEGIn+1;]}
}
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1=0; sum=0;
for (i=0;; i++)
{
sum+=1 ;
i f (i<=100%breakﬂ
}
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#include<stdio. h> =. HEHIFMNCIRFi%it
void main()

{
int sum=0, ij;
for (i=1;i<=100; i++) BT B FET 2R ER
{ i, foriEA)fEEA A B
sum=sumt+i ; J& TH B IEA AR PHIT
(if (i==2) 4
{
printf ("PfTcontinuein™ |/~ s T, w
Y Fibsum S Hi=1i=3RH i, =224 “ T continue
a 7, =4 “PATbreak” —
{
printf ("F{Tbreak\n") : S_UT=1 ,
break - i fTcontinue
\} ’ sum=3
11T break
}printf( “sum=%d\n", sum) ; jgﬂ‘é;e?

printf ("fEIRLER") ;
J
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